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30 Question 1- p2-27p +180=0
q%-23q +112=0

P>q
P<q

p=q

pP=q
P=q or relation cant be

established/P= q IT HsT¥
AT AT ToraT ST Hehdl
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30 Question 2- pz-lsp +56 =0
2q%-35q +152=0

P>q
P<q

p=q

pP=q
P=q or relation cant be

established/P= q IT HsT¥
AT AT ToraT ST Hehdl
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30 Question 3- p2-11p +28=0
g = /4096

P>q
P<q

p=q

pP=q
P=q or relation cant be

established/P= q IT HsT¥
AT AT ToraT ST Hehdl

https://t.me/mathbytarunsirmepl @

WO N w R




30 Question 4- 2p2= P + 60
2q%-31q +120=0

P>q
P<q

p=q

pP=q
P=q or relation cant be

established/P= q IT HsT¥
AT AT ToraT ST Hehdl
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In an college election two candidates P and Q participated. The P gets 160

more votes than the Q.

1- Number of boys voted for P 1s 40% less than the number of girls voted for
him.

11- Number of girls voted for Q 1s 45% of the number of girls voted for P.
111- There are 37.5% girls out of total people voted for Q.

Ueh ShictsT =16l H &1 SFHIGERIT P 3T Q F | {1l P 3kl Q | 160 3T A1e
fieTd 2

i- P 1 91 @4 Il TTShi ohl GEAT 3k [oTT I i Tl AS(haT shi S&IT 9
40% T 2|

ii- Q o ToTC Hae™ T aTelt TSRl &t T, P o [Tt Aae s aTelt aeiehd
ol GTAT AT 45% Bl ii- Q o ToTT HAGH i et et AT H € 37.5% TTS(hAI o
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30

Question 5- Out of the registered voters only 70% cast their

votes. Then find total registered votes.

T4 5- Usiiohd HAGTATHI H © kel 70% = & STYA1 A1e STeT| T
e GSiehd Sl T ShiToY|

700
864
784
868

None of these

o
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30 Question 6- Find the sum of the number of boys voted for P

and number of girls voted for Q.

TS 6- P 3! A1 2 9Tl ASehl ohl ST 3 Q o [T Hae™ &
ITAT ASTRAT hl GAT AT JNT JTd hiTSTY|

400
500
420
520

None of these

o
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Question 7- Out of the total number of boys who voted in

election 40 percent are post graduate. Find the number of

postgraduate boys.
T 7- TS H HAGH i dTe] TTSehl 3hl el HE&AT H € 40 Tiererd

HTdehIE 8| TITAhITT AASohl shl ST JTd shifST

216
116
210
118

None of these

S ) s
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30 Question 8- A mixture of two liquids A and B contains 40%

liquid A. 40 liter of mixture 1s replaced by same quantity of

liquid B then this ratio 0@ becom@Find the
quantity of liquid B initially.

T 8- a1 a0 A 3T B h f01 § 40% atet A 81 40 ofiet fagor &

dteT B shl GH AT 8 YfaqeArfud fomam SITar 8, df B 31T A Rl
3T 7:4 BT ST &l THH H T B shl W J1d 3hi S|

260 liter
300 liter
320 liter
. 400 liter

B None of these
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o
@ QOOO k@@//\%uestion 9- A person borrowed Rs 40,000 at 10% per annum

simple interest for 2 years. He lent the sum of the amount to
another person at 20% per annum for same time and earned Rs
@ S , ] 3000 ow much amount he lent tbanother person. o
Fp-aloref s 1o LN g
T 9- Ueh AIxh = 2 91 oh 14 10% STl IS GTLTOT sITST GT_GA
E\NSENEN A
= Jooo i 40,000 T SUW fo1U) SE THI THE o foIT 20% i o it gt |
! x TeRdlT 311 SATh oh\lrrfirrswa%ﬁ@wﬁwoo EPRCIE I
L/°/~: F1000  fopm s Fomet a7 safem 1 et OTRT S 12

| A looe A. Rs 20,000
IOO H |ooo T B. Rs 30,000
I= Yo o, = 2500 C. Rs 35,000
2| Ty — D Rs 25,000

E. None of these
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O r-09-9=0 Question 10- The selling price of 8 article is equal to the cost
g5 1550+ 60=0

price of 5 article. If the selling price of each article 1s
increased by 60% then find profit percent.

T 10- 8 S oAl forshdl Hed 5 & o 63 0o oh SIS 8| Afe
STedieh S oh ToIshd el H 60% ol dfg BidT 2, AT &1 Jlderd

& 5 S;S\ij: (60‘/.2?5-_& A. 10%
(P &\ B. 20%
C. Data inadequate/\%'a??f 39T
Pﬁ ey LB No profit no loss/aIg AT &,
IS BT el

E. None of these
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Ol

287';__10 Lf
.

200- O 5
5

Question 11- A peI‘SOYl}\t‘)\.:/):) article at Rs 600 each. He sells first
at 25% discount and other at 20% discount. Find the sum of

marked price of both article. ’}ﬁ I
T 11- T Afth 600 &9 i TG ol 3 H 3T TEqAT ! g2 2
I8 TE 25% T UL AN HL 20% B T ST ©. ST AT oh
3ok T ST ANT 1 hISY

SP
3 A. Rs 1400
B. Rs 1450
L7 SN Féon C. Rs 1500
Eg P~ Rs 1550
( 611 5))( 0 E. None of these
= &l
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. . (?
What approximate value come in place of * 30/,

? o T I ITTATI 7T AT AT X

Question 12- 79.89% of 499.96 + 74.94% of 799.99 :@X@Ol X V17
TS 12- 499.96 FT 79.89% + 799.99 T 74.94% = 2 x 23.01 x\17

QozgSLoJrTIMoo: e AT 10

B. 20

= |o .
A /7?9? [ C. 30
D. 40
E. 50
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What approximate value come 1n place of ? >
? o T U STIATH HI T 37451“ -

S,
3 &o/j\g [ 7
Question 13- 71. 89—4070f29?8><79930f4 8=20f13-40.11 0f 4.9
71.89 +~4.07 <01 2.98 X 498 <1 79.93 =? 13 1 - 40.11 h71 4.9

A 200

| 3 e B. 400
By C. 240
8o D. 360
g E. 400

30
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@ The line graph show the number of workers in two companies P(green
label) and Q(blue label) in different phases(A,B,C,D)

TG UTH Tafi= =on (A, B, C, D) | &l Shyf==ii P 3R Q W HTHen! ahl G&AT
T |




Question 14- In phase B 25% of workers in P(green label) can complete a work

in 10 days working 8 hours daily. Then one fifth workers of Q(blue label)
\)\% working 10 hours daily can do the same work in how much time.
3%\%; =0T B H P (U AeeT) H 25% 2AiHe Ficiiad 8 Eid 318 shteh 10 Tam1 H Toh shrd U
Gehd 8| A Q (5] TeTet) o Ueh Uil (& ShH=INT iia 10 Eid 3hTH shich 36T
! fohd= T H T Hehd &7

259/ gf 3R0=> 80 warke
> 3
8 =5§xﬁox D
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